IR S P ACOK B A A R Bk (BUH I No. 1 _B3)

BlEEAR || B %2 %30 Falm % 5 (A #6m 5% 7 1A % 8 m %9 m 100 F11m 10 Bl e s
406 4F RECH e
HH 5H15H 6H12H 7TH10H 8H14H 9H11H | 10416H | 11H13H | 12A11H | 1415H 1H20H 2H05H 3H05H
TV L KER (mg/L) — <</([)\*?0'§‘5> - - — - — - — - — - (£?£B> B ERNS 2
KR (mg/L) - <0. 0005 — — — — — — — — — — <€0.0005 [ 0.0005LL F
A RITA (mg/L) - <0. 0003 - - - - - - - - - - €0.0003 |[ 0.003 LLF
#n (mg/L) — 0. 008 - - - - - - - - — - 0. 008 0.01 LIF
[ /A=A (mg/L) - <0. 005 — — — — — — — — — — €0.005 |[ 0.05 LLIF
fits# (mg/L) — 0.003 - - - - - - - - - - 0. 003 0.01 BAF
KU ==L 0B /L) - | S - - - - - - - - - R Y et
NYZoaxzFLo (mg/L) — <0. 001 - - - - - - - - - - <0.001 [l 0.01 LAF
FhI/nuxFL v (mg/L) — 0.001 — — — — — — - — - — 0. 001 0.01 LAF
DY/ A=0=0 % 8% (mg/L) — <0. 002 - - - - — — _ _ _ _ €0.002 §i0-02 AR
PR AL B R (mg/L) — <0. 0002 - - - - - - - - - - <0.0002 | 0.002 LAF
L2-Yr7mupxH (mg/L) — <0. 0004 - - - - - - - - - - <0.0004 [[ 0.004 LAF
L1I-vZmrrxFLr  (mg/L) - <0. 002 - - - - - - - - - - 0.002 |f 0.1 LLF
L2-vZmurxFLr  (mg/L) - <0. 004 - - - - - - - - - - 0.004 |l 0.04 LLF
L1,1-hYVZuoxXy (ng/L) - <0.1 - - - - - - - - - - 0.1 v uF
LL2-hUZmmx# (mg/L) - <0. 0006 - - - - - - - - - - <0.0006 | 0.006 LATF
,3-Y/murua~r  (mg/L) — <0. 0002 - - - - — - — - - - <0.0002 |[ 0.002 LIF
FUT A (mg/L) — <0. 0006 - - - - - - - - - - <€0.0006 |f 0.006 LATF
DV (mg/L) — <0. 0003 - - - - — - — - - - <0.0003 |[ 0.003 LIF
FAXHNT (mg/L) — <0. 002 - - - - - - - - - - €0.002 [ 0.02 LAF
P Vg (mg/L) — <€0. 001 - - - - - — - — - — €0.001 |[ 0.01 LITF
L (mg/L) — <0. 001 — — — — — — — — — — <0. 001 0.01 LT
1,4~V A X% (mg/L) — <0. 005 - - - - - — - — - — €0.005 |[ 0.05 LITF
yopxFL (mg/L) — <€0. 0002 — — — — — — — — — — €0.0002 [ 0.002 LLF
kA A (mg/L)|| 14.8 14.5 18.9 20.0 13.8 13.7 13.6 14. 4 15.5 13.2 13.1 13.0 14.9 -
ERIREE (mS/m) || 24.2 23.8 39.2 37.3 31.7 30.8 26.9 27.8 35.5 23.8 23.3 23.3 29.0 -
<O VERT AR X1 —ARBETEN) D I AL Gy 55 B OVPE SEBEFEM) 0D B /L3 35 \ AR 2 il b oD JL e
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ALY S P AOKE A A R Bk (BUH I No. 2 i)

BlEEAR || B %2 %30 Falm % 5 (A #6m 5% 7 1A % 8 m %9 m 100 F11m 10 Bl e s
A6 4 RECH e
HH 5H15H 6H12H 7TH10H 8H14H 9H11H | 10416H | 11H13H | 12A11H | 1415H 1H20H 2H05H 3H05H
TV L KER (mg/L) — <</([)\*?0'§‘5> - - — - — - — - — - (£?£B> B ERNS 2
KR (mg/L) - <0. 0005 — — — — — — — — — — <€0.0005 [ 0.0005LL F
A RITA (mg/L) - <0. 0003 - - - - - - - - - - €0.0003 |[ 0.003 LLF
#n (mg/L) — 0. 002 - - - - - - - - — - 0. 002 0.01 LIF
[ /A=A (mg/L) - <0. 005 — — — — — — — — — — €0.005 |[ 0.05 LLIF
fits# (mg/L) — <€0. 001 - - - - - - - - - - €0.001 || 0.01 LLF
KU ==L 0B /L) - | S - - - - - - - - - R Y et
NYZoaxzFLo (mg/L) — <0. 001 - - - - - - - - - - <0.001 [l 0.01 LAF
FhI/nuxFL v (mg/L) — 0.001 — — — — — — - — - — 0. 001 0.01 LAF
DY/ A=0=0 % 8% (mg/L) — <0. 002 - - - - — — _ _ _ _ €0.002 §i0-02 AR
PR AL B R (mg/L) — <0. 0002 - - - - - - - - - - <0.0002 | 0.002 LAF
L2-Yr7mupxH (mg/L) — <0. 0004 - - - - - - - - - - <0.0004 [[ 0.004 LAF
L1I-vZmrrxFLr  (mg/L) - <0. 002 - - - - - - - - - - 0.002 |f 0.1 LLF
L2-vZmurxFLr  (mg/L) - <0. 004 - - - - - - - - - - 0.004 |l 0.04 LLF
L1,1-hYVZuoxXy (ng/L) - <0.1 - - - - - - - - - - 0.1 v uF
LL2-hUZmmx# (mg/L) - <0. 0006 - - - - - - - - - - <0.0006 | 0.006 LATF
,3-Y/murua~r  (mg/L) — <0. 0002 - - - - — - — - - - <0.0002 |[ 0.002 LIF
FUT A (mg/L) — <0. 0006 - - - - - - - - - - <€0.0006 |f 0.006 LATF
DV (mg/L) — <0. 0003 - - - - — - — - - - <0.0003 |[ 0.003 LIF
FAXHNT (mg/L) — <0. 002 - - - - - - - - - - €0.002 [ 0.02 LAF
P Vg (mg/L) — <€0. 001 - - - - - — - — - — €0.001 |[ 0.01 LITF
L (mg/L) — <0. 001 — — — — — — — — — — <0. 001 0.01 LT
1,4~V A X% (mg/L) — <0. 005 - - - - - — - — - — €0.005 |[ 0.05 LITF
yopxFL (mg/L) — <€0. 0002 — — — — — — — — — — €0.0002 [ 0.002 LLF
kA A (mg/L)|| 15.1 15.1 7.3 14. 6 2.0 2.2 7.0 15.2 13.4 13.2 13.1 13.1 10.9 -
ERIREE (wS/m) || 25.0 24.6 25.0 32.4 21.1 21.9 25.7 28.9 24.9 24.5 23.7 23.6 25.1 -
<O VERT AR X1 —ARBETEN) D I AL Gy 55 B OVPE SEBEFEM) 0D B /L3 35 \ AR 2 il b oD JL e
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AL 5 JE it FAOK B A R R (e 1)

MEFEH A 1 [a] % 2 [0l % 3\l 48] % 5 [A] %6 [5] % 7 [0l %5 8 [l %9 Al #10[a] 10| 10[m] FRLT B

A6 4 - S (!
EHH 4H17H 5H15H 67120 THI10H 8H14H 9H11H [ 10H16H | 11130 | 124110 | 1H15H 2H05H 3H05H i
T RIAR (mg/L) - - <<§*§0%5> - - - - - - - - - <<?§0%j5> sk
KR (mg/L) — — <0. 0005 — — — — — — — — — €0.0005 [ 0.0005L4
B RITA (mg/L) — — <0. 0003 — — — — — — — — — €0.0003 |f 0.003 LATF
ey (mg/L) — — 0. 001 — — — — — — — — — 0. 001 0.01 LAF
Y VA=N (mg/L) - — <0. 005 — - — - — - — - — €0.005 |[ 0.05 LATF
it (mg/L) - — <€0.001 — - — - — - — - — €0.001 |[ 0.01 LAF
BTV (mg/L) - — (igﬁl‘kg') — — — — — — — — — é}fﬁl‘kg’) B SR S 2
AU HENE 7 == (PCB) (mg/L) — — <<§*§ouom45) — — - - - — - - - <<§*§0%j5> BHSRAND &
ryZmoxFL (mg/L) - — <€0. 001 - — - — - — - - - €0.001 |[ 0.01 LATF
FhI oo FLr (mg/L) — — <0. 001 — — — — - — - — — €0.001 |[ 0.01 LAF
DYA=2=0 % 8% (mg/L) - - <0. 002 - - - — - — - - - €0.002 |[ 0.02 LLF
s (mg/L) - — <€0. 0002 - - - — - — - - - €0.0002 |[ 0.002 LLF
1,2-Y/nmuxiy (mg/L) - - <0. 0004 - - - — - — - - - <0.0004 |[ 0.004 LLF
,1-YZ7ooxFL (mg/L) — — <0. 002 — — — — - — - — — €0.002 |[o0.1 LLF
1,2-Y7pooxF L (mg/L) — — <0. 004 — — — — - — - — — €0.004 |[ 0.04 LLTF
L1L,1-hUZmoxZy (ng/L) - — €0.1 - - - — - — - - - 0.1 1 UF
LL,2-rUzwmoxZy (mg/L) - - <0. 0006 - - - — - — - - - <€0.0006 |[ 0.006 LLF
,3-vr7uuray (mg/L) — — <0. 0002 — — - — — — — — — <0.0002 [ 0.002 LLAF
F7 T A (mg/L) - - <0. 0006 - — - — - — - — - <0.0006 |f 0.006 LATF
D4 (mg/L) — — <0. 0003 — — — — - — - — — <0.0003 [ 0.003 LLF
FA BT (mg/L) - — <0. 002 - — - — — — — — — €0.002 || 0.02 LT
R (mg/L) - — <0. 001 - — — — — — — — — €0.001 |[ 0.01 LLITF
L (mg/L) — — <0. 001 — — — — — — — — — €0.001 |[ 0.01 LLTF
1L, 4= A% (mg/L) — — <0. 005 — — — — - — - — — €0.005 |[ 0.05 LLTF
sunzF LR (mg/L) - - <0. 0002 - — - — - — - — - €0.0002 |f 0.002 LLTF
WAL A A (mg/L) 15.4 14.2 15.3 13.8 12.9 16.0 16.7 15.5 15.5 16.0 15.7 15. 2 15. 2 —
ERURER (mS/m) 25.5 24.3 28. 4 26.9 28.1 24.7 31.7 31.1 30.2 28.8 30.6 29. 1 28.3 -

<R A T
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AL 5 A P ACOKE ARG R ek (e 2)

BEEAR || FLE | H2m | E3E | fE4lEl | FE5E | Fel | H7E | E8E | okl | FloE | FioE | 10 HL i e

406 4F RECH e
HH 4H17H 5H15H 6H12H 7TH10H 8H14H 9H11H | 10A416H | 11A13H | 12A11H | 1H15H 2H05H 3H05H
7L L IKER (mg/L) — — <</([)\:*?0‘Lg‘5) — — — — — — — — <<g\?0‘kg’5> BEnRND &
KR (mg/L) - — <0. 0005 - - — - - - - - <€0.0005 [ 0.0005LL F
I RI YL (mg/L) - — <0. 0003 - - — - - - - - <0.0003 |[ 0.003 LLF
#n (mg/L) — — 0. 001 — — — — — — — — 0. 001 0.01 LIF
(A=A (mg/L) - — <0. 005 - - — - — - — — €0.005 |[ 0.05 LIF
fitts& (mg/L) - - <0. 001 - - — - — - - — €0.001 [ 0.01 LLF
i (mg/L)) - — - (To*ﬁ%) - - - ~ - - - - (T(ﬁ%j) frtnshn s
YT == (PCB) (mg/L)|  — o R - - - — ~ ~ N -
[N/ =R=1== P (mg/L) — - <0. 001 - - - — — — — — <0.001 [l 0.01 LAF
FhIrznoxFLrr  (mg/L) - - <0. 001 - - — - — — — _ <0.001 Jlo.01 BT
DA E=F ¥ % (mg/L) - — <0. 002 — — — — — — — — 0.002 |f 0.02 LAF
R {9 ES (mg/L) — — <0. 0002 — — — — — — — — €0.0002 || 0.002 LAF
L2-Y/7unxiy (mg/L) - — <0. 0004 — — — — — — — — <0.0004 |[ 0.004 LATF
L,1-YZ7opox=FL (mg/L) — — <€0. 002 — — — — — — — — €0.002 f[o.1 LT
1,2-Y7mmnx=FL (mg/L) — — <€0. 004 — — — — — — — — €0.004 [ 0.04 LT
LL1-rU 7w (ng/L) — — €0.1 — — — — — — — — €0.1 1 LT
1,1,2-rY 7o (mg/L) — — <0. 0006 — — — — — — — — <0.0006 || 0.006 LLF
1,3-Yr7nmnuruly (mg/L) — — <0. 0002 — — — — — — — — €0.0002 [ 0.002 LLF
F7 T A (mg/L) — — <0. 0006 — — — — — — — — €0.0006 |f 0.006 LLF
DV (mg/L) — - <0. 0003 — — — — — — — — <€0.0003 [ 0.003 LLF
FARBHNT (mg/L) — — <€0. 002 — — — — — — — — €0.002 |[ 0.02 LT
P Vg (mg/L) — — <0. 001 — — — — — — — — €0.001 |[ 0.01 LITF
L (mg/L) — — <€0. 001 — — — — — — — — <0. 001 0.01 LT
1,4~V A X% (mg/L) — — <0. 005 — — — — — — — — €0.005 |[ 0.05 LITF
sopxFLie (mg/L) — — <€0. 0002 — — — — — — — — €0.0002 [ 0.002 LLF
A A (mg/L) 23.7 23.6 23.6 23.5 23.7 23.2 23.3 23.5 23.5 27.7 23.4 23.3 23.8 -
ERIREE (mS/m) 30. 4 28. 4 30.7 30.3 30.7 31.1 30.5 31.8 33.4 33.8 32.8 30.8 31.2 -

<O VERT AR X1 —IRBEIEW) D B KA 5385 Mo OVRE SEBETEW) D B KA H3 55 \ AR 2 Bl b oD L v
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F AL Yo iR KK B R A 2R — Bk

WEFA A NG % 20l % 3=l %48l % 5 Al % 6 5l % 7 0l % 8 nl % 9 nl %10[=] 5 10[A] F10[=] Hil %
430 6 4 T g
HH 41198 | 51508 | 6120 | 7TA10H | 8H14H | 9H11A | 10/16A | 11130 | 12A11H | 1158 | 2050 | 3/05H O nmEsi
T IFKEMEE (mg/L) - - <0. 0005 - - - - - <0. 0005 - - — <0.0005 |[fttiEnzee &
ﬁ;ﬁéﬁgg;ﬁ”*ﬁﬁ%m (mg/L) - - <0. 0005 - — — — - <0. 0005 - — - <0.0005 | 0.005F
B RIYLBROZEDIEY  (ng/L) — — 0. 005 — — — — — 0. 003 — — — 0. 005 0.03 LLF
MR OZF DAY (mg/L) — — €0.01 — — — — — €0.01 — — — <0.01 0.1 T
AL EY (mg/L) — — €0.10 — — — — — <€0. 10 — — — €0. 10 1 UF
ANl 7 v 2EEW (mg/L) — — <0. 05 — — — — — <0. 05 — — — <0. 05 0.5 DIF
M#E L OZ DA (mg/L.) — — <€0. 01 — — — — — <€0. 01 — — — €0.01 0.1 LF
T LAY (mg/L) — — <0. 10 — — — — — <0. 10 — — — <€0.10 1 UF
AU E 7 ==L (PCB)  (mg/L) - — <0. 0005 — — — — — <0. 0005 — - — <0. 0005 0.003LL F
Ny ZoozFlLo (mg/L) — — <€0. 01 — — — — — <€0. 01 — — — <€0. 01 0.1 LIF
FRhIsupzFLo (mg/L) - — <0. 01 — — — — — <€0. 01 — - — <€0.01 0.1 LIF
rau ALy (mg/L) — — <0. 02 — — — — — <0. 02 — — — <0. 02 0.2 LIF
VU A 3% (mg/L) — — <0. 002 — — — — — <0. 002 — — — <0. 002 0.02 LLF
L2-Y7auxiy (mg/L) — — <0. 004 — — — — — <0. 004 — — — <€0. 004 0.04 LIF
L,1-Y/rogxFL o (mg/L) — — <0. 02 — — — — — <0. 02 — — — <0. 02 1 UF
LA, 2-v/aaF Ly (ng/l) — — <0. 04 — — — — — <0. 04 — — — <€0. 04 0.4 LIF
B PEEEY P2 (mg/L) — — €0.3 — — — — — 0.3 — — — €0.3 3 LF
BERYEEEEY Y (mg/L) — — <0. 006 — — — — — <0. 006 — — — <0. 006 0.06 LIF
L3-Yrmursaty (mg/L) — — <0. 002 — — — — — <0. 002 — — — <0. 002 0.02 LLF
FUT A (mg/L) — — <0. 006 — — — — — <0. 006 — — — <0. 006 0.06 LLF
DX (mg/L) — — <0. 003 — — — — — <€0. 003 — — — <0. 003 0.03 LLF
FARLHNT (mg/L) — — <0. 02 — — — — — <0. 02 — — — <0. 02 0.2 LIF
NPy (mg/L) — — <0. 01 — — — — — <0. 01 — — — <0.01 0.1 LLF
LU ROEDOIEY (mg/L) — — €0.01 — — — — — €0.01 — — — <0.01 0.1 UTF
1,4~V %4 (mg/L) — — <0. 05 — — — — — <0. 05 — - — <0. 05 0.5 LIF
1E 5 FROZDILED (mg/L) — — 0.8 — — — — — 1.0 — — — 0.8 50 LIF
5o KK OZEDOIED (ng/L) — — 0.30 — — — — — 0.29 — — — 0.30 15 LF
TUE=T TUE= A Ay
A 1 Y ] I M B i e M I I S i N L
KA A PR ORFERRE) (1 — 7.9 7.7 7.7 7.5 7.4 7.4 7.5 7.6 7.9 8. 1 8.0 8.1 7.7 ||5.800 k8. 680 F]
WL EE SR SR i (BOD)  (mg/L) 2.0 1.3 0.8 0.8 0.6 1.2 1.2 0.6 0.9 0.7 1.3 0.9 1.0 60 LIF
bR 5 3R (COD) (mg/L.) 2.8 3.0 3.4 3.4 3.0 3.1 3.3 3.1 3.5 3.5 4.5 4.1 3.4 90 LIF
) B (SS) (mg/L) |[ <1 <1 <1 <1 2 <1 <1 <1 <1 <1 7 <1 2 60 LT
iég;’)“w’“”m@gﬁﬁi(m (mg/L) - - <25 - - - - - <2.5 - - - <25 5 UF
ﬁég%;g%ﬁam%’ﬁﬁ/ﬁg(ﬁb (mg/L) - - <2.5 - — - - - <25 - — - <2.5 30 WF
7z )= VEEHE (mg/L) - — < 0.10 — — — — — < 0.10 — — — < 0.10 5 UTF
il A i (mg/L) — — < 0.10 — — — — — <0.10 — — — < 0.10 3 UTF
WS A i (mg/L) — — 0.15 — — — — — 0.11 — — — 0.15 2 UTF
RVESR S AT e (mg/L) — — < 1.0 — — — — — < 1.0 — — — <10 10 UF
W~ o U E AR (mg/L) - — <10 — — — — — < 1.0 — — — < 1.0 10 MF
7 a LERE (mg/L) — — < 0.10 — — — — — < 0.10 — — — < 0.10 2 UF
KIGH RS (fE/mL)|[ < 30 <30 < 30 < 30 <30 < 30 <30 < 30 <30 < 30 <30 < 30 < 30 (3000  LLF)
EHROAE (mg/L) 2.5 3.4 4.3 4.5 4.1 3.3 3.4 3.1 2.9 4.5 3.8 3.8 3.6 120 (60) LA F
WA (mg/L) || < 0.20 [< 0.20 [< 0.20 < 0,20 [< 0.20 < 0.20 [< 0.20 < 0.20 < 0.20 [< 0.20 [< 0.20 [<0.20 < 0.20 16 (8)LLF
WA A (mg/L) — — 83 — — — — — 100 — — — 92 —
R (mS/m) - — 120 — — — — — 150 — — — 135 —
FEEETAVIGIER A=
=AXE (mg/L) - — < 0. 0002 — — — — — < 0.0002 — — — < 0.0002 —

= )LE ) ~v—)
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FA A% A (AL SR TK) R —RR

BRI T HEAL Gy S A T K
B ALy YR K
HHE i1 His 2
PKFEH H A FI64E6 A 120
PCDDs+PCDFs (pg-TEQ/L) 0.027 0.027 4.1
Co—PCBs (pg-TEQ/L) 0. 0026 0. 0026 0. 000027
HALAXOUE (pe-TEQ/L) 0. 030 0. 029 4.1
RisEE (peg-TEQ/L) 1 10
TR i S HEAL Gy 5 A kT K
B ALy SR K
HH His1 His 2
FKEA R ATeEI12A 11 H
PCDDs+PCDFs (pg-TEQ/L) 0. 39
Co—-PCBs (pg—TEQ/L) 0
FL4AXI U8 (pg-TEQ/L) 0.39
fidi B % (pe-TEQ/L) 10




